20240826 1

Batsystem  PT8045BL, PT1104530BL - Mounting instructions

W Boatsystem Group AB, Traneredsvagen 112, 426 53 Vastra Frélunda, Sweden, Tel:+46 (0)31 69 03 80

www.boatsystemgroup.com, info@boatsystemgroup.com

! ) NOTE: This boat accessory is only to be used at sea. OBS: Detta battillbehor dr endast for bruk till sjoss.

T £ =

Detta behdver du:
You will need this:

=
X x4
P1014 P1069 P1048/P1049 M6

M8 M6, @25 @25 alt. @32

® @ ® ®
??iii ﬁ-OELTﬁ@D

X2 x10 X2 x10 x2 x12 X2 X2 X2 X6 x2 x6
M8x16 M8x30  M6x25  M6x30 M8 P1092 8657 8657 M5x25
@25 22,400 mm @25

x2

& W

TN
O

12) (10

O
<+

SN
N
14 B



20240826

Forborra med 3,5 mm borr
Predrill with 3,5 mm drill

OBS!
NB!

Borra fran
tva hall for att
undvika flisning

Drill from two
directions
to avoid

chipping

—

3: Measure where the platform is to be placed. Center vertically and
horizontally. Fit the platform and tighten the bolts in the universal brackets
properly when these are at the right angle. /

Mét ut var plattformen skall placeras. Centrera i h6jd och sidled. Passa in
plattformen och drag at bult i universalfastena ordentligt nér dessa fatts i
ratt vinkel.

2: Attach the universal fittings to the platform. Screw in just enough so that
they can be adjusted against the transom. Attach the telescopic strut under
the platform /

Fast universalbeslagen pa plattformen. Skruva fast lagom sa att de kan juste-
ras mot akterspegeln. Fast telesskopstagen under plattformen

traskruv/
screw

(> x2
@4,2mm

M6x25, bricka,
mutter

4: Fix the platform provisionally with a self-tapping screw (a) in one of the
holes, fix the platform to the stern with the help of rope in the pulpit. Fluctuate
the line towards the hull and deck so that the platform ends up straight. Attach
the universal fittings with bolts (b) to the hull. Remove the screw (a) and attach
the last bolt in each fitting. Seal with Sikaflex. /

Fast plattformen provisoriskt med en sjalvgangande skruv (a) i ett av halen,
fixera plattformen mot akter med hjalp av lina i pulpit. Flukta in linjen mot
skrov och dack sa att plattformen hamnar rakt. Fést universalbeslagen med
bultar (b) i skrovet. Ta bort skruven (a) och fast sista bulten i varje beslag. Tata
med Sikaflex.



20240826 3

Vi

M6x35

-, il

A
v

>300 mm

x1 225
M8x16

222

[D1] [D3

5: Attach the u-fittings and mark with a pencil directly in the holes on the u-fittings where the attachment holes are to be drilled in the transom. Tighten the
telescopic struts securely. The brace can be adjusted up and down for a better fit (c) and also sideways (d). Note, however, that if the cassette ladder is to be
mounted on the platform, the space between the bars should be at least 300 mm (e). /

Fast u-beslagen och markera med penna direkt i halen pa u-beslagen dér fasthalen skall borras i akterspegeln. Skruva at teleskopstagen ordentligt. Stagen
kan justeras upp och ner for att passa béttre (c) och aven i sidled (d). Notera dock att om kassettstege skall monteras pa plattformen bor mellanrummet
mellan stagen vara minst 300 mm (e).




20240826

Extension + 50 mm can be ordered. P1010 (@32 mm). Possibly, the struts (B) under the platform must be changed to a longer one (in the case of a straight

stern). Available to order: P1032 (350 mm). /
Forlangning + 50 mm finns att bestélla. P1010 (@32 mm). Eventuellt maste stagen(B) under plattformen bytas till ett langre (vid rak akter). Finns att bestalla:

P1032 (350 mm).

The carriage bolts (M6) are continuous with

the cap on the upper side of the platform. /
Vagnsbultarna (M6) ar genomgaende med
hatten pa ovansidan plattformen. X2

36 mm

‘ X2
— ] | @lmmmmmn{)

M6x30

o o traskruv/
screw

(o> x2

4,8x19

Suitable ladder for the bathing platform (extra equipment). Mounted under the platform as shown in the picture above. /
Passande stege till badplattformen (extrautrustning). Monteras under plattformen enligt bilden ovan. BKT73. BKT74
’




